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1 import SwiftUI
2
3 struct ContentView: View {
4 // @State private var end = 0.0 // for animation
5
6 var body: some View {
7 Path { path in
8 @State var SIZE = 80.0
9 @State var nodes = divlayer(m: 3)
10
11 for i in 0 ..< (nodes.count-1) {
12 path.move(  to: CGPoint(x: SIZE * CGFloat(nodes[i 1]1.0),
y: SIZE * CGFloat(nodes[i ].1)))
13 path.addLine(to: CGPoint(x: SIZE * CGFloat(nodes[i+1].0),
y: SIZE * CGFloat(nodes[i+1].1)))
14 b
15 3
16 // .trim(from: 0.0, to: end) // for animation
17 .stroke(lineWidth: 1)
18 .fil1(Color.red)
19 .frame(width: 1, height: 1)
20 // .onAppear{ end = 1.0 } // for animation
21 // .animation(.linear(duration: 3), value: end) // *
22 ¥
23
24 func divlayer(n: Int) -> [(Float, Float)] {
25 var h4: [(Float, Float)] = []
26
27 if n >0 {
28 let hf = half(c: divlayer(n: n-1))
29 for i in (0 ..< hf.count).reversed() {
h4.append(( hf[il.1-1, -hf[i].0-1)) %}
30 for i in 0 ..< hf.count {
h4.append(( hf[i].0-1, hf[i].1+1)) }
31 for i in O ..< hf.count {
h4.append(( hf[i].0+1, hf[i].1+1)) }
32 for i in (0 ..< hf.count).reversed() {
h4.append ((-hf [i].1+1, hf[i].0-1)) }
33 return h4
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34 } else {

35 return [(0, 0)]

36 }

37 }

38

39 func half(c: [(Float, Float)]) -> [(Float, Float)] {
40 var h: [(Float, Float)] = []

41

42 for i in 0 ..< c.count { h.append((c[i]l.O / 2, c[i]l.1 / 2)) }
43 return h

44 }

45 }
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